Chapter 5


Answers – HKAS 17 Leases

(A)
Multiple Choice Questions

	1.
	A
	


	2.
	A
	Interest charge = 3/10 x $3,000 = $900


	3.
	D
	Interest charge = 2/6 x $3,000 = $1,000


	4.
	B
	Point 3 is wrong because obligations under finance leases due after twelve months will be shown under non-current liabilities.

Point 4 is wrong because an asset held under an operating lease is not capitalized by the lessee.


	5.
	B
	


	
	$

	Interest [(539,000 – 125,000) x 8%]
	33,120

	Depreciation (539,000 ( 5)
	107,800

	Total charge to income statement
	140,920


	6.
	C
	


	7.
	D
	As this is an operating leaseback, the substance of the agreement is that the property has been sold. HKAS 17 requires that the difference between the sale price and the fair value of the property (800,000 – 700,000) is deferred and amortised over the period in which the asset will be used.


	8.
	B
	


(B)
Examination Style Questions

1.
(a)

	
	
	Debit
	Credit

	
	
	$’000
	$’000

	Rent payable/Accruals
	[1 mark]
	317,500
	

	Operating charges
	[1 mark]
	
	317,500

	Being correction to rent charges on reclassification of leases. [1 mark]


	
	
	Debit
	Credit

	
	
	$’000
	$’000

	Leased assets
	[1 mark]
	213,000
	

	Obligations under finance lease (under current liabilities)
	[1 mark]
	
	45,000

	Obligations under finance lease (under long-term liabilities)
	[1 mark]
	
	168,000

	Being capitalisation of finance leases. [1 mark]


	
	
	Debit
	Credit

	
	
	$’000
	$’000

	Depreciation on leased assets
	[1 mark]
	50,000
	

	Aggregate depreciation on leased assets
	[1 mark]
	
	50,000

	Being depreciation (over useful live) on capitalised asset under finance lease. [1 mark]


	
	
	Debit
	Credit

	
	
	$’000
	$’000

	Finance charge
	[1 mark]
	25,000
	

	Accruals
	[1 mark]
	
	25,000

	Being interest element of the lease obligation over period of lease. [1 mark]


(b)
In accordance with HKAS 17, a finance lease is a lease that transfers substantially [1 mark] all the risks [1 mark] and rewards [1 mark] of ownership of an asset to the lessee.

It should be presumed that such a transfer of risks and rewards occurs if at the inception of a lease the present value of the minimum lease payments, including any initial payment, amounts to substantially all (normally 90% or more) of the fair value of the leased asset. The present value should be calculated by using the interest rate implicit in the lease. If the fair value of the asset is not determinable, an estimate thereof should be used. [1 mark]

(c)
The lease on motor vehicle is a finance lease.

Transfer of risk

(i)
The motor vehicle was accepted and insured by the company on 29th December 1997 (i.e. before the year end date. [1 mark]

(ii)
Cova Ltd. is responsible for insurance and maintenance of the motor vehicle. [1 mark]

Transfer of reward

(i)
Lessor has granted an option to Cova Ltd such that after the primary period of five years, Cova Ltd can continue leasing the motor vehicle at a nominal rent of $1. [1 mark]

Both risk and rewards are transferred to the lessee, the transfer is considered substantial because the present value of the minimum lease payment is equivalent to the cash price by using the implicit interest rate. These conditions fulfil the criteria of a finance lease under HKAS 17. [1 mark]

(d)

	
	
	Debit
	Credit

	
	
	$’000
	$’000

	Leased assets
	[1 mark]
	410,280
	

	Obligations under finance lease (under current liabilities)
	[1 mark]
	
	100,000

	Obligations under finance lease (under long-term liabilities)
	[1 mark]
	
	310,280

	Being capitalisation of finance leases.


The leased obligation is equivalent to the cash price, therefore the lease obligation under finance lease classified under long-term liabilities is the difference between the cash price and the current portion of the lease obligation. It has been assumed that there is no interest element in the first payment on 2nd January 1998.

2.
(a)

Rental per quarter = $10,000

( Rental over primary lease period = $10,000 x 4 x 3 = $120,000

	Calculation of finance charge
	$
	

	Rental over primary lease period
	120,000
	[1 mark]

	Cash price
	81,000
	[1 mark]

	Total finance charge
	39,000
	[1 mark]


(b)
Rule of 78 Calculation

	Year
	Period
	No. of rentals not yet due
	Allocation factor
	Total finance charge
	Finance charge per period
	
	Finance charge per annum
	

	
	
	
	
	$
	$
	
	$
	

	1996
	1Q96
	12
	12/78
	39,000
	6,000
	[0.5]
	
	

	
	2Q96
	11
	11/78
	39,000
	5,500
	[0.5]
	
	

	
	3Q96
	10
	10/78
	39,000
	5,000
	[0.5]
	
	

	
	4Q96
	9
	9/78
	39,000
	4,500
	[0.5]
	21,000
	[1]

	1997
	1Q97
	8
	8/78
	39,000
	4,000
	[0.5]
	
	

	
	2Q97
	7
	7/78
	39,000
	3,500
	[0.5]
	
	

	
	3Q97
	6
	6/78
	39,000
	3,000
	[0.5]
	
	

	
	4Q97
	5
	5/78
	39,000
	2,500
	[0.5]
	13,000
	[1]

	1998
	1Q98
	4
	4/78
	39,000
	2,000
	[0.5]
	
	

	
	2Q98
	3
	3/78
	39,000
	1,500
	[0.5]
	
	

	
	3Q98
	2
	2/78
	39,000
	1,000
	[0.5]
	
	

	
	4Q98
	1
	1/78
	39,000
	500
	[0.5]
	5,000
	[1]

	
	
	78
	
	
	39,000
	
	39,000
	

	
	
	[1 mark]
	
	
	
	
	
	


(c)
Apportionment of Annual Rentals

	Year
	Total Rental
	Finance Charge
	Capital Repayment
	

	
	$
	$
	$
	

	1996
	40,000
	21,000
	19,000
	[1]

	1997
	40,000
	13,000
	27,000
	[1]

	1998
	40,000
	5,000
	35,000
	[1]

	
	120,000
	39,000
	81,000
	


(d)

The period over which a leased asset should be depreciated is the shorter of

(i)
the lease term, and

(ii)
the asset’s useful life

The lease term is the primary period of the lease (i.e. the non-cancellable part) together with any secondary periods during which the leasee has the contractual right to continue to use the asset and which right, at the start of the lease, it is reasonable to expect the lessee to exercise. In this case, the lease term is 5 years (primary period, 3 years + secondary period, 2 years). The depreciation per annum is $16,200 (81,000 ( 5 years).

Balance Sheet Values – Leased Assets

	Year
	
	Cost
	
	Accumulated depreciation
	
	Net book value of assets held under finance leases

	
	
	$
	
	$
	
	$

	1996
	[1]
	81,000
	[1]
	16,200
	[1]
	64,800

	1997
	
	81,000
	[1]
	32,400
	
	48,600

	1998
	
	81,000
	[1]
	48,600
	
	32,400


(e)

Balance Sheet Values – Leasing Obligations

	Year
	
	Obligations under finance leases outstanding at start of year
	Capital repayment
	
	Obligations under finance leases outstanding at year end

	
	
	$
	$
	
	$

	1996
	[1]
	81,000
	19,000
	[1]
	62,000

	1997
	
	62,000
	27,000
	[1]
	35,000

	1998
	
	35,000
	35,000
	[1]
	0


3.
(a)

Whether a lease is a finance lease or an operating lease depends on the substance of the transaction rather than the legal form of the contract. [1 mark]

The classification of leases adopted in HKAS 17 is based on the extent to which risks and rewards incidental to ownership of a leased asset lie with the lessor or the lessee.

(i)
Risks include technological obsolescence and decline in return or value of assets due to changing economic conditions. [1 mark]

(ii)
Rewards include the future return from using the asset and of gain from appreciation in value. [1 mark]

(b)

The following are indicators, as given by HKAS 17, which would normally lead to a lease being classified as a finance lease:

(i)
the lease transfers ownership of the asset to the lessee by the end of the lease term;

(ii)
the lessee has the option to purchase the asset at a bargain price and it seems likely that, at the inception of the lease, this option will be exercised;

(iii)
the lease term is for the major part of the useful life of the asset; and at the inception of the lease, the present value of the minimum lease payments is greater than, or equal to substantially all of, the fair value of the leased asset;

(iv)
if the lessee can cancel the lease any losses associated with the cancellation are borne by the lessee;

(v)
gains or losses from the fluctuation in the fair value of the residual fall to the lessee (e.g. in the form of a rent rebate equaling most of the sales proceeds at the end of the lease);

(vi)
the lessee has the ability to continue the lease for a secondary period at a rent which is substantially lower than market rent; and

(vii)
the leased assets are of a specialised nature such that only the lessee can use them without major modifications being made.


[1 mark each, total 7 marks]

(c)

	Year
	Principal (opening)
	Repayment
	Finance charge
	Principal repaid
	Principal (closing)
	[Marks]

	
	$
	$
	$
	$
	$
	

	1 Jan 2004
	10,000
	3,998
	0
	3,998
	6,002
	[1]

	31 Dec 2004
	6,002
	2,500
	720
	1,780
	4,222
	[1]

	31 Dec 2005
	4,222
	2,500
	507
	1,993
	2,229
	[1]

	31 Dec 2006
	2,229
	2,500
	271
	2,229
	-
	[1]

	
	
	11,498
	1,498
	10,000
	
	[1]


(d) Journal entries in East Limited’s book:

	
	
	Dr ($)
	Cr ($)
	[Marks]

	1 Jan 2004
	Leased machinery
	10,000
	
	[0.5]

	
	Bank
	
	3,998
	[0.5]

	
	Lease obligation
	
	6,002
	[0.5]

	
	
	
	
	

	31 Dec 2004
	Lease obligation
	1,780
	
	[0.5]

	
	Interest expense
	720
	
	[0.5]

	
	Bank
	
	2,500
	[0.5]

	
	
	
	
	

	31 Dec 2004
	Depreciation expense
	3,333
	
	[1]

	
	Accumulated depreciation
	
	3,333
	[0.5]

	
	
	
	
	

	31 Dec 2005
	Lease obligation
	1,993
	
	[0.5]

	
	Interest expense
	507
	
	[0.5]

	
	Bank
	
	2,500
	[0.5]

	
	
	
	
	

	31 Dec 2005
	Depreciation expense
	3,333
	
	[0.5]

	
	Accumulated depreciation
	
	3,333
	[0.5]


(e)

East Limited

Balance sheet (extracts) as at 31 December 2004

	Non-current assets
	$
	[Marks]

	Machinery held under finance lease
	6,667
	[1]

	Current liabilities
	
	

	Obligation under finance lease
	1,993
	[1]

	Long-term liabilities
	
	

	Obligation under finance lease
	2,229
	[1]


4.
The major issue concerning the lease of an office premises is whether the lease payments should be capitalized (and amortised) or expenses as incurred. HKAS 17 “Leases” requires that a finance lease should be recognized as an asset and a liability, [1 mark] while operating lease payments should be expensed on a straight-line basis over the lease term. [1 mark]

Whether the lease concerned is a finance lease or an operating lease should be judged on its economic substance rather than its legal form. [1 mark] A number of indicators lead to a lease being classified as a finance lease and these are given in HKAS 17. Indicators of a finance lease that are applicable in the context of this lease are:

· The lease term is the major part of the economic life of the asset; [1 mark] or

· The present value of the minimum lease payments amounts to at least substantially the fair value of the leased asset at the inception of the lease. [1 mark]
In the case of this non-cancellable lease, a lease period of 5 years for the office premises that a new office block development will certainty not be for the major part of economic life of the office premises. [1 mark]

It appears that the present value of lease payments for 5 years, using the best lending rate of 4% as the discount factor ($150,000 + $150,000 x 3.63 = $694,500), is unlikely to be substantially close to the fair value ($3 million) of the office premises. [1 mark]

Based on the limited information given in question, this lease should be classified as an operating lease; the annual lease payment ($150,000) should be charged to profit and loss account in each year over the lease period. [1 mark] Dazie Limited should disclose the total of future minimum lease payments, lease payments recognized for the year and description of signigicant leasing arrangements. [1 mark]

If the lease is an operating lease rather than a finance lease, then both the assets and liabilities of the company are overstated for the year ended 31 December 2004. [1 mark] However, the amounts of misstatements of assets and liabilities balances represent only 1.7% ($694,500/$40,400,000) of total assets for the year ended 31 December 2004. [1 mark] The amount of error involved is not material, however, it is necessary to correct it because the accounting treatment for this item is not in lime with HKAS 17. [1 mark]

5.
(a)
The following are circumstances, as given by HKAS 17, which would normally lead to a lease being classified as a finance lease:

(i)
the lease transfers ownership of the asset to the lessee by the end of the lease term;

(ii)
the lessee has the option to purchase the asset at a bargain price and it seems likely that, at the inception of the lease, this option will be exercised;

(iii)
the lease term is for the major part of the useful life of the asset; and at the inception of the lease, the present value of the minimum lease payments is greater than, or equal to substantially all of, the fair value of the leased asset;

(iv)
if the lessee can cancel the lease any losses associated with the cancellation are borne by the lessee;

(v)
gains or losses from the fluctuation in the fair value of the residual fall to the lessee (e.g. in the form of a rent rebate equaling most of the sales proceeds at the end of the lease);

(vi)
the lessee has the ability to continue the lease for a secondary period at a rent which is substantially lower than market rent; and

(vii)
the leased assets are of a specialised nature such that only the lessee can use them without major modifications being made.


[1 mark for each point, maximum 6 marks]

(b)

HKAS 17 specifies that, at the commencement of the lease term:

(i)
Lessees shall recognize the finance lease as assets and liabilities in their balance sheets at amounts equal to the fair value of the leased asset or, if lower, the present value of the lease payments, each determined at the inception of the lease. [2 marks]

(ii)
The discount rate to be used in calculating the present value of minimum lease payments is the interest rate implicit in the lease, if this is practicable to determine; if not, the lessee’s incremental borrowing rate shall be used. [2 marks]

(iii)
Any initial direct costs of the lessee are added to the amount recognized as an asset. [1 mark]

(c)

The lease arrangement with Hirer Limited should be a finance lease because of the following reasons:

(i)
the lease term (4 years) is the same as the economic life of the equipment; [1 mark]

(ii)
at the inception of the lease, the present value of the minimum lease payments ($17,481 being lease payments $4,500 x 3.0374 plus guaranteed residual value $6,000 x 0.6355) amounts substantially to the fair value of the leased equipment of $17,500; [2 marks]

(iii)
the leased assets are of a specialized nature and the lessee can use them without major modifications being made; [1 mark] and

(iv)
since the lease is non-cancellable, gains or losses from the fluctuation in the residual fair value will fall to the lessee. [1 mark]

[Maximum 4 marks]

Accounting entries to record the lease arrangement with Hirer Limited:

	
	
	Dr ($)
	Cr ($)
	[Marks]

	1 Jan 2005
	Leased equipment
	17,481
	
	[1]

	
	Lease obligation
	
	17,481
	[1]

	
	
	
	
	

	31 Dec 2005
	Lease obligation
	2,340
	
	[1]

	
	Interest expenses ($18,000 x 12%)
	2,160
	
	[1]

	
	Bank
	
	4,500
	[1]


(d)

The lease arrangement with Alpha Limited should be an operating lease because of the following reasons:

(i)
the lease term is only half of the useful life of the machine; [1 mark]

(ii)
at the inception of the lease, the present value of the minimum lease payments ($42,000 x 1.6901 = $70,984) amounts to less than half of the fair value of the leased machine of $150,000; [2 marks] and

(iii)
at the end of the lease period, the machine will be transferred back to Alpha Limited. [1 mark]

Accounting entries to record the lease arrangement with Alpha Limited:

	
	
	Dr ($)
	Cr ($)
	[Marks]

	1 Jan 2005
	Bank
	42,000
	
	[1]

	
	Rental income
	
	42,000
	[1]


6.
(a)

In accordance with HKAS 17, the classification of leases is based on the extent to which risks and rewards incidental to ownership of a leased asset lie with the lessor or the lessee. [1 mark] A finance lease is the lease that transfers substantially all the risks and rewards incidental to ownership. [1 mark] A lease should be classified as an operating lease if it does not transfer substantially all the risks and rewards incidental to ownership. [1 mark]
Risks include the possibilities of losses from idle capacity or technology obsolescence and of variations in return because of changing economic conditions. [1 mark]
Rewards may be represented by the expectation of profitable operation over the assets economic life and of gain from appreciation in value or realization of a residual value. [1 mark]
(b)

Larine Limited
Statement of financial position (extract) as at 30 June 2008

	Non-current assets
	$
	Note
	Marks

	Property, plant and equipment – leased assets

($60,000 – $60,000/3)
	40,000
	(i), (ii)
	1.5

	Current assets
	
	
	

	Rent prepaid – operating lease ($8,000 x 6/12)
	4,000
	(iv)
	1.0

	Non-current liabilities
	
	
	

	Lease obligations ($60,000 – $16,500 – $18,000 + $4,350)
	29,850
	(i)
	2.0

	Current liabilities
	
	
	

	Lease obligation  ($18,000 – $4,350)
	13,650
	(i)
	1.5

	Accrued finance costs [($60,000 – $16,500) x 10%]
	4,350
	(i), (iii)
	1.5


Statement of comprehensive income (extract) for the year ended 30 June 2008

	
	$
	Note
	Marks

	Depreciation – leased assets ($60,000/3)
	20,000
	(ii)
	1.0

	Finance costs
	4,350
	(iii)
	1.0

	Rental expenses – operating expenses
	8,000
	(iv)
	0.5


Explanations:
(i)
At the commencement of the lease term, HKAS 17 requires Larine Limited, the lessee, to recognize finance leases as assets and liabilities in the statement of financial position at amounts equal to the fair value of the leased property (i.e. $60,000) or, if lower, the present value of the minimum lease payments ($61,264 = $16,500 + $18,000/(1 + 10%) + $18,000/(1 + 10%)2 + $18,000/(1 + 10%)3), each determined at the inception of the lease. Therefore, the fair value of $60,000 is used for recording the amounts of leased asset and lease obligation. The discount rate to be used in calculating the present value of the minimum lease payments is the interest rate implicit in the lease; that is 10% in this case. [5 marks]
(ii)
The depreciation policy for depreciable leased assets shall be consistent with similar depreciable assets that are owned, and the depreciation to be calculated in accordance with HKAS 16 “Property, Plant and Equipment”. Since it is the policy of Larine Limited to depreciate the office equipment on a straight-line basis, therefore, the leased equipment should be depreciated on a straight-line basis. HKAS 17 states that the asset shall be fully depreciated over the shorter of the lease term of 3 years and its useful life of 4 years. Since there is no reasonable certainty that the Larine Limited will obtain ownership by the end of the lease term, the leased asset should be depreciated over 3 years. [5 marks]
(iii)
HKAS 17 states that the finance charge shall be allocated to each period during the lease term so as to produce a constant periodic rate of interest on the remaining balance of the liability. Therefore, Larine Limited should apply actuarial method in allocating the finance charge for the finance lease. [2 marks]
(iv)
Lease payments under an operating lease should be recognized as an expense on a straight-line basis over the lease term unless another systematic basis is more representative of the time pattern of the user’s benefit. Since the rental of the lease is payable in advance, the $4,000 out of $8,000 rent paid on 1 January 2008 should be included as prepaid rent and be grouped under current assets. [2 marks]

(Maximum 10 marks)
7.
(a)
The determination of whether a lease is a finance lease or an operating lease lies with the doctrine of “substance over form”. Substance over form refers to the substance of the transaction rather than the legal form of the lease contract. [1 mark]
The classification of leases adopted in HKAS 17 is based on the extent to which risks and rewards incident to ownership of a leased asset lie with the lessor or the lessee: [1 mark]
· Risks include technological obsolescence and decline in return or value of assets due to changing economic conditions. [1 mark]
· Rewards include the future return from using the asset and of gain from appreciation in value. [1 mark]

(Maximum 3 marks)
(b)

The lease between Lessor Limited and Lessee Limited is a finance lease because of the following reasons:
· Ownership of the office machinery will be transferred to the lessee by the end of the lease term, since the director of Lessee Limited indicates his intention to take the option.

[1.5 marks]

· Lessee Limited has the option to purchase the office machinery at a price (that is, $5,500) which is expected to be sufficiently lower than the fair value at the date the option (that is, $10,000) becomes exercisable. [1.5 marks]
· The lease term (that is, 3 years, 75% of the machinery’s economic life) is the major part of the economic life of the asset (that is, 4 years). [1.5 marks]
· The present value of the minimum lease payments (that is, $17,655 = $5,550 + $5,300/(1 + 15%) + $5,300/(1 + 15%)2 + $5,300/(1 + 15%)3) amounts to at least substantially all of the fair value (that is, $20,000) of the leased asset at the inception of the lease. [2 marks]
· Lessee Limited has the ability to continue the lease for a secondary period of 2 years after 31 December 2008 at a rent (that is, $500 per month) which is substantially lower than market rent (that is, $1,000 per month). [1.5 marks]


(Maximum 7 marks)
(c)

Breakdown between interest and capital elements of the lease:
	Year
	Principal

(opening)
	Repayment
	Finance charge (15%)
	Principal

(closing)
	Marks

	
	$
	$
	$
	$
	

	1-Jan-07
	17,655
	5,550
	0
	12,105
	[1.5]

	31-Dec-07
	12,105
	5,300
	1,816
	8,621
	[1.5]

	31-Dec-08
	8,621
	5,300
	1,293
	4,614
	[1.5]

	31-Dec-09
	4,614
	5,300
	686
	0
	[1.5]


(d)

Journal entries in Lessee Limited’s book:

	
	
	Dr
	Cr
	Marks

	
	
	$
	$
	

	1 Jan 2007
	Leased machinery
	17,655
	
	[1]

	
	Bank
	
	5,550
	[1]

	
	Lease obligation
	
	12,105
	[1]

	
	To record lease capitalization at the effective date of lease contract and to record the lease payment
	

	31 Dec 2007
	Lease obligation
	3,484
	
	[1]

	
	Interest expenses
	1,816
	
	[1]

	
	Bank
	
	5,300
	[1]

	
	To record the lease payment
	
	
	[0.5]

	31 Dec 2007
	Depreciation expenses

($17,655/4 years)
	4,414
	
	[1]

	
	Accumulated depreciation
	
	4,414
	[1]

	
	To record year-end depreciation on leased machinery.
	[0.5]




(Maximum 9 marks)
8.
(a)
Risks

· The possibilities of losses from idle capacity or technological obsolescence.

· Variations in return because of changing economic conditions

Rewards

· Expectation of profitable operation over the asset’s economic life.

· Gain from appreciation in value or realization of a residual value.

[Note: Any other valid points are acceptable.]


(1 mark for any point, total 4 marks)

(b)

The above lease is a finance lease due to the following:

(i)
The lease transfers ownership to the lessee by the end of the lease term as it is mentioned that the lessee will most likely exercise the option to purchase the leased asset at the end of the lease term.
(ii)
The lease term of four years is for the major part of the economic life of the leased asset, which is estimated to be five years.

(iii)
The present value of the minimum lease payments, i.e. $550,471 (W1), amounts to approximately 95% of all of the fair value of the leased asset (i.e. $580,000) at the inception of the lease.

(iv)
Gain or losses from the fluctuation in the fair value of the residual value accrue to the lessee.

(v)
The lessee is responsible for the repair, maintenance and insurance of the asset.

Based on the above, it can be concluded that Machinery Ltd has assumed substantial risks and rewards incidental to the ownership of the leased equipment at the inception of the lease contract.



(1 mark for any point, total 4 marks)
(c)

	
	
	Dr
	Cr
	Marks

	In Machinery’s books
	
	$
	$
	

	1 Jan 2008
	Leased equipment (W1)
	550,471
	
	[1]

	
	Lease obligation
	
	550,471
	[0.5]

	
	To record the lease capitalization
	
	
	[0.5]

	
	Lease obligation
	145,000
	
	[1]

	
	Bank
	
	145,000
	[0.5]

	
	To record the rental payment
	
	
	[0.5]

	
	
	
	
	

	31 Dec. 2008
	Finance charge (W2)
	48,656
	
	[1]

	
	Accrued interest
	
	48,656
	[0.5]

	
	To record the accrued interest
	
	
	

	
	Depreciation ($550,471 / 5)
	110,094
	
	[0.5]

	
	Accumulated depreciation
	
	110,094
	[0.5]

	
	To provide depreciation for the leased equipment
	




(7 marks)
(d)
Machinery Ltd

Statement of comprehensive income

For the year ended 31 December 2008 (extracts)
	
	$
	Marks

	Finance charge
	48,656
	[0.5]

	Depreciation
	110,094
	[0.5]


Machinery Ltd

Statement of financial position

As at 31 December 2008 (extracts)

	Non-current assets
	$
	Marks

	Equipment on finance lease (550,471 – 110,094)
	440,377
	[1]

	
	
	

	Current liabilities
	
	

	Obligation under finance lease (405,471 – 309,127) (W2)
	96,344
	[1]

	Accrued interest
	48,656
	[1]

	
	
	

	Non-current liabilities
	
	

	Obligation under finance lease (W2)
	309,127
	[1]


Mass Ltd

Statement of comprehensive income

For the year ended 31 December 2008 (extracts)

	
	$
	Marks

	Interest earned on finance lease (W2)
	48,656
	[1]


Statement of financial position as at 31 December 2008 (extracts)

	Non-current assets
	$
	Marks

	Lease receivable (W2)
	454,127
	[1]




(7 marks)

(e)

The motivation to account for a finance lease as an operating lease is to achieve off-balancing financing, that means to keep the finance liability off a company’s financial statement. The beauty of doing so is to window dress (i.e. to reduce) the gearing ratio so that the company’s financial position will be perceived as a lower financial risk.


(3 marks)

Workings:

W1 PV of minimum lease payment

$(145,000 + 145,000 x 0.8929 + 145,000 x 0.7972 + 145,000 x 0.7118 + 80,000 x 0.6355 + 10,000 x 0.6355) = $550,471

W2 Lease amortization schedule
	Year
	Capital sum at beginning of period ($)
	Lease payment ($)
	Sub-total ($)
	Finance charge ($)
	Capital sum at end of period ($)

	2008
	550,471
	145,000
	405,471
	48,656
	454,127

	2009
	454,127
	145,000
	309,127
	37,095
	346,222

	2010
	346,222
	145,000
	201,222
	24,146
	225,368

	2011
	225,368
	145,000
	80,368
	9,644
	90,012


9.
(a)

Present value of annual payments:
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Unguaranteed residual value:
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The net investment of Lessor is the present value of both the minimum lease payments and the unguaranteed residual value. It is equal to $50,000 ($27,950 + $22,050). This amount is also equal to the fair market value of the equipment, which meets the criterion of substantially all the fair value of the leased asset. Thus, Lessor should account for this lease as a finance lease.

Since Lessee has no obligation for the unguaranteed residual value, this value is excluded from the calculation of the present value of the minimum lease payments. Thus the present value of the lease arrangement to Lessee is $27,950, which is only 55.9% of the fair market value of the asset. This lease satisfies none of the criteria for a finance lease from the lessee’s point of view and therefore would be accounted for as an operating lease.

(b)

In the books of Lessor:

	
	
	Debit
	Credit

	2002
	
	$
	$

	1 July
	Lease receivable
	50,000
	

	
	Equipment
	
	50,000

	
	
	
	

	
	Bank
	7,813.6
	

	
	Lease receivable
	
	7,813.6

	
	
	
	

	31 Dec
	Lease receivable [($50,000 - $7,813.6) x 8% x 6/12]
	1,687.5
	

	
	Finance income
	
	1,687.5


In the books of Lessee:

	
	
	Debit
	Credit

	2002
	
	$
	$

	1 July
	Lease equipment
	27,950
	

	
	Obligation under finance lease
	
	27,950

	
	
	
	

	
	Obligation under finance lease
	7,813.6
	

	
	Bank
	
	7,813.6

	
	
	
	

	31 Dec
	Finance charges [($27,950 - $7,813.6) x 8% x 6/12]
	805.5
	

	
	Obligation under finance lease
	
	805.5

	
	
	
	

	
	Depreciation expense ($27,950/4 x 6/12)
	3,493.8
	

	
	Accumulated depreciation – leased equipment
	
	3,493.8


(c)

In the books of Lessor:

	
	
	Debit
	Credit

	2006
	
	$
	$

	30 June
	Equipment
	27,000
	

	
	Loss on unguaranteed residual value
	3,000
	

	
	Lease receivable
	
	30,000


(d)

If the lessee capitalizes the lease, both its assets (leased equipment) and liabilities (obligations under finance lease) are increased by $10,000, but there is no effect on its equity. In terms of percentage, its total assets will increase by 33.3% ($10,000/$30,000) and its total liabilities will increase by 100% ($10,000/$10,000) upon the capitalization. Except for a firm with zero equity, lease capitalization will always add proportionately more liabilities than assets to the balance sheet of the lessee. As a result, the lessee may not prefer to capitalize such a lease.

For the lessor, on the other hand, lease capitalisation does not mathematically impact the capital structure as the capitalization increases (lease receivable) and decreases (equipment) assets at the same time by the same amount of $10,000. Indeed, capitalization has the effect of replacing an illiquid tangible asset (equipment) for a non-cancellable and less risky claim to future cash flows (lease receivable). Therefore, the asset position of lessor may improve qualitatively. The lessor may thus prefer to capitalize the lease. Capitalisation does not have any effect on the liabilities and equity of the lessor.

10.
(a)

MEMORANDUM

To:
Finance Director, Jones

From:
ABC, Accountant

Date:
5 December 2002

Subject:
Accounting for lease of “Vinnie”

Option A
The primary period of this lease is for the whole of the Vinnie’s useful economic life. This lease must therefore be accounted for as a finance lease, as the risks and rewards of ownership have passed totally to the lesses. The sum of digits method of allocating finance charges has been adopted. A straight line method would have unacceptable due to the size of the lease, while actuarial methods could have been used as an alternative to sum of digits (if you know the implicit interest rate).

The asset is shown in the balance sheet at $60,000 (subject to depreciation).

Depreciation is over eight years (presumably no residual value to the asset at the end of eight years)

Annual depreciation charge = 1/8 x $600,000 = $75,000

Allocation of finance charge

	
	$

	Total rentals ($110,000 x 8)
	880,000

	Less: Cash price of fixed assets
	600,000

	Finance charge
	280,000


Rule of 78 (or sum of the digits method)

Now, Jones pays in advance the first payment is pure capital, because no interest can yet have been accrued. Therefore there are only 7 interest bearing instalments.

	Year
	Digits
	Proportion allocated
	Finance charge

	
	
	
	$

	20X7
	7
	7/28
	70,000

	20X8
	6
	6/28
	60,000

	20X9
	5
	5/28
	50,000

	20X10
	4
	4/28
	40,000

	20X11
	3
	3/28
	30,000

	20X12
	2
	2/28
	20,000

	20X13
	1
	1/28
	10,000

	20X14
	0
	0
	0

	
	28
	
	280,000


The final period is not allocated any interest because the loan was completely repaid at the beginning of that period.

Payment schedule

	1
	2
	3
	4
	5
	6

	Year
	Principal
	Repayment
	Principal outstanding
	Finance charge
	Balance c/f

	
	$
	$
	$
	$
	$

	20X7
	60,000
	(110,000)
	490,000
	70,000
	560,000

	20X8
	560,000
	(110,000)
	450,000
	60,000
	510,000

	20X9
	510,000
	(110,000)
	400,000
	50,000
	450,000

	20X10
	450,000
	(110,000)
	340,000
	40,000
	380,000

	20X11
	380,000
	(110,000)
	270,000
	30,000
	300,000

	20X12
	300,000
	(110,000)
	190,000
	20,000
	210,000

	20X13
	210,000
	(110,000)
	100,000
	10,000
	110,000

	20X14
	110,000
	(110,000)
	-
	-
	-

	
	
	(880,000)
	
	280,000
	


Amounts in the financial statements should therefore be as follows:

(i)
Income statement
	Depreciation on plant held under finance leases
	75,000

	Finance charges under finance charges
	70,000


(ii)
Balance sheet
	Non-current assets
	

	Plant held under finance leases:
	

	Cost
	600,000

	Depreciation (600,000/8)
	75,000

	
	

	Current liabilities
	

	Obligations under finance lease (560,000 – 510,000)
	50,000

	
	

	Long-term liabilities
	

	Obligations under finance lease
	510,000


Option B
The contracted lease term is only for half of the useful economic life of the Vinnie and thus all the risks and rewards of ownership have not passed to the lessee. Accordingly, Jones should account for this lease as an operating lease.

Amounts in the financial statements should therefore be:

Income statement
	
	$

	Hire of plant and machinery
	150,000


(b) Accounting treatments in Backward or Bust Co’s books
Option A
The transaction would be treated as a finance lease. Thus the balance sheet would show as a current asset the capital amount outstanding under the lease, and the income statement would be credited with the interest element of the lease rentals received.

Option B
All residual amounts are guaranteed to Backward or Bust, although not necessarily by Jones. Backward or Bust should therefore account for this transaction as a finance lease.

11.
(a)

MEMORANDUM

To:
Assistant accountant

From:
Management accountant

Date:
5 December 2002

Subject:
Leasing and the gearing ratio

HKAS 17 “Leases” defines two types of lease; a finance lease and an operating lease.

A finance lease is a lease which transfers substantially all the risks and rewards of ownership of an asset to the leasee. A lease is presumed to be a finance lease if the present value of the minimum lease payments, including any initial payment, amounts to substantially all of the fair value of the leased asset. An operating lease is a lease other than a finance lease.

HKAS 17 requires that the financial statements reflect the commercial substance of lease agreements, rather than their strict legal form. Operating leases are treated as rental agreements, there is no effect on the balance sheet and therefore no effect on gearing. The commercial effect of a finance lease is that the lessee has raised a loan in order to acquire an asset, regardless of the fact the lessee does not legally own the asset. Therefore the asset is included in non-current assets and depreciated over its estimated useful economic life. The capital element of future lease rentals is included in the balance sheet as a liability. Because of this treatment, a finance lease would have an adverse effect on the gearing ratio.

HKAS 17 states that a lease should be classified as a finance lease if it can be clearly demonstrated that substantially all the risks and rewards are transferred to the lessee. For example, the leasing agreement currently under consideration gives P the right to use the asset for most of its economic life and therefore should be treated as a finance lease. There are other indications that the lease is a finance lease. P is responsible for repairs and maintenance and has an option to purchase the asset at the end of the lease term.

(b)

Balance sheet at 31 December 20X5 (extracts)

	
	$

	Tangible non-current assets: plant and machinery
	1,900,000

	Current liabilities
	

	Obligations under finance leases
	340,480

	Non-current liabilities
	

	Obligations under finance leases
	1,579,71


Notes to the income statement for the year ended 31 December 20X5

	
	$

	Operating profit is stated after charging:
	

	Depreciation on leased assets
	100,000

	
	

	Finance costs
	

	Finance leases (W1)
	42,514


Notes to the balance sheet (extracts)

	
	$

	Tangible non-current assets
	

	Cost at 1 January 20X5
	-

	Additions
	2,000,000

	Cost at 31 December 20X5
	2,000,000

	
	

	Accumulated depreciation at 1 January 20X5
	-

	Charge for the year (2,000,000 x 3/12 ( 5)
	100,000

	Accumulated depreciation at 31 December 20X5
	100,000

	
	

	Net book value at 31 December 20X5
	1,900,000

	
	

	Obligations under finance leases (W2)
	

	Falling within one year
	340,480

	Falling due within two to five years
	1,579,714

	
	1,920,194


Workings

W1 Interest

	
	$

	Total payments (122,320 x 20)
	2,446,400

	Less: fair value (taken at cost)
	2,000,000

	
	446,400

	
	

	Payable in year ended 31 December 20X5 (20/210 x 446,400)
	42,514

	Payable in year ended 31 December 20X6
	

	(19 + 18 + 17 + 16/210 x 446,400)
	148,800


W2 Lease payables

	
	Bal. b/d
	Interest
	Repayment
	Bal. c/d

	
	$
	$
	$
	$

	20X5
	2,000,000
	42,514
	(122,320)
	1,920,194

	20X6
	1,920,194
	148,800
	(489,280)
	1,579,714


12.
(a)

Treating the lease as an operating lease rather than a finance lease would have very little impact on the income statement. The whole of the lease payments would be treated as a finance charge and would be expensed immediately. If the lease is capitalised as a finance lease then the lease payments would be broken down between interest and capital repayment. Only the former would be treated as an expense.

On the other hand, the equipment would be capitalised as a non-current asset and would have to be depreciated over the shorter of its useful life and the lease. Adding depreciation and finance charges would give the same total cost over the life of the lease. The only effect on the income statement is that the amount charged in any one year might be affected by the company’s depreciation policy.

Treating the lease as an operating lease would have a significant effect on the balance sheet. If the lease is an operating lease then the company does not have to capitalise either the asset or the lease. This means that non-current assets and liabilities will both be far lower under an operating lease.

The two main ratios that will be affected will be return on capital employed (ROCE) and gearing. ROCE will be lower if the contract is treated as a finance lease because the numerator will be roughly the same as with an operating lease, but the denominator will be higher. Gearing will be increased because the company will have higher debt if this is a finance lease. The accounting treatment will have little or no effect on equity.

(b)

This is really a finance lease. HKAS 17 would require that the company should take into account the term of the lease, including any secondary periods which are likely to be taken up.

Even if HKAS 17 did not have such a requirement, it would be misleading to permit companies to artificially reduce the period of a lease agreement because then there would be no need to classify anything as a finance lease.

If the secondary periods are taken into account, the lease will cover the whole of the asset’s useful life. That suggests that the lease is a finance lease.

The fact that the requirement is vital to the production process suggests that the lease will be extended.

The penalty clause requiring an expensive refurbishment appears to be designed to ensure that the lease will be extended no matter whether S needs the asset or not. This suggests that the lease really must be a six-year lease.

(c)

The figures in a company’s balance sheet are very important, because they affect the perceptions of present and potential shareholders and loan providers and other interested parties. If the company appears to have borrowed heavily, then that could depress its share price and could also encourage loan providers to ask for greater security or for higher rates of interest.

Many loan providers also impose conditions or “covenants” on borrowers, which require that the gearing ratio be kept below a specified amount. If a company classifies a lease as a finance lease, then it could find itself in technical default of a loan agreement.

While the figures that appear in the balance sheet are undoubtedly important, they do not affect the underlying economic reality. The cash flows and liabilities imposed by a lease obligation are not affected by its treatment in the balance sheet. Companies cannot change the real effects of signing a lease simply by classifying it is a particular way.

The decision to classify a lease as an obligation lease will not necessarily affect the attitudes of loan providers and more sophisticated shareholders. Many users of financial statements ask specific questions of management concerning such issues as liabilities and leases. They can also look for other indications that the company might have unrecorded liabilities, for example by checking the notes to the income statement to see whether the company has made substantial payments for operating leases.

(d)

It might be possible to present a misleading picture by deliberately reading Accounting Standards very literally. For example, reading a definition very literally and claiming that a particular balance or transaction is not covered by it because it does not precisely match the requirement of the Standard. A similar effect can be had from reading the terms of a contract or agreement very literally, a good example being the terms of S’s lease agreement, because that can have the effect of excluding certain matters from the terms of a Standard.

A second approach is to bias any subjective estimates and decisions so that the statements are pushed in a particular direction. For example, the estimated useful life of a non-current asset could have an impact on the balance sheet and on reported profit. This bias can influence the figures without the company having to resort to outright falsification.

A third approach is to find an issue that is not directly covered by an Accounting Standard and use the fact that there are no prescriptive rules to obtain the desired effect on the statements. It might, for example, be possible to capitalize a particular expense, even though that treatment would be unusual, on the grounds that there is an argument for capitalization and that there are no rules to prevent capitalization.
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